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/*
A basic extension of the java.applet. Applet class

*/

import java. awt. k;
import java. applet. *;

public class LiftControl extends Applet
public void init()

// Take out this line if you don’t use symantec. itools.net.RelativeURL or sy
mantec. itools. awt. util.StatusScroller
// symantec. itools. lang. Context. setApplet (this) ;

// This code is automatically generated by Visual Cafe when you add
// components to the visual environment. It instantiates and initializes
// the components. To modify the code, only use code syntax that matches
// what Visual Cafe can generate, or Visual Cafe may be unable to back
// parse your Java file into its visual environment.
//{{INIT_CONTROLS

setLayout (nul i) ;

setSize (826, 606) ;

Upanel = new java.awt.Panel () ;

Upane|. setLayout (new GridLayout (6,1,0,0)):
Upane |. setBounds (216, 72, 70, 495) ;

add (Upanel) ;

U6 = new java.awt.Button(});

U6. setBounds (0, 0, 70, 82) ;

U6. setBackground (new Color (12632256)) ;
Upanel. add(UB)

U5 = new java. awt.Button():

U5. setLabel ("8");

U5. setBounds (0, 82, 70, 82) ;

U5. setBackground {(new Color (12632256)) ;
Upane . add (U5) ;

U4 = new java. awt.Button():

U4. setLabel ("8");

U4. setBounds (0, 164, 70, 82) ;

U4. setBackground (new Color (12632256)) ;
Upane |. add (U4) ;

U3 = new java. awt.Button():

U3. setlabel ("8");

U3. setBounds (0, 246, 70, 82) ;

U3. setBackground (new Color (12632256)) :
Upane |. add (U3) ;

U2 = new java. awt.Button() ;

U2. setLabel ("F7):

U2. setBounds (0, 328, 70, 82) :

U2. setBackground (new Color (12632256)) ;
Upanel add (U2) ;

U1l = new java. awt.Button():

Ul. setlabel ("8");

U1. setBounds (0, 410, 70, 82) ;

U1. setBackground (new Color (12632256)) ;
Upanel. add (U1) ;

label7 = new java. awt.Label ("HHR4 >, Label. CENTER) ;
labe | 7. setBounds (204, 12, 94, 29) :

add (label7) ;

Dpane! = new java.awt.Panei () ;

Dpanel. setLayout (new GridlLayout(6,1,0,0));
Dpane |. setBounds (312, 72, 81, 496) ;

add (Dpanel)

D6 = new java. awt. Button () ;

D6. setLabel ("[&") :

D6. setBounds (0, 0, 81, 82) ;

D6. setBackground (new Color (12632256) ) ;
Dpanel. add (D6) ;

D5 = new java. awt. Button() ;

D5. setlabel ("[&7) :

D5. setBounds (0, 82, 81, 82) ;

D5. setBackground (new Color (12632256)) ;
Dpane . add (D5) ;

D4 = new Java awt. Button () ;

D4. setLabel ("[&7) ;

D4. setBounds (0, 164, 81, 82) ;

D4. setBackground {(new Golor (126322586)) ;
Dpane|. add (D4) ;

D3 = new Java awt. Button () ;

D3. setlLabel ("[&") :

D3. setBounds (0, 246, 81, 82) ;

D3. setBackground (new Color (12632256)) ;
Dpane|. add (D3) ;
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D2 = new Java awt. Button () ;

D2. setlLabel ("f&") ;

D2. setBounds {0, 328, 81, 82) ;

D2. setBackground {(new Color (12632256)) ;
Dpanel. add (D2) ;

D1 = new java.awt.Button();

D1. setBounds (0, 410, 81, 82) ;

D1. setBackground (new Color (12632256)) ;
Dpanel. add (D1) ;

labe |1 = new java. awt.labe! ("f& 4 ", Label. CENTER) ;
labe | 1. setBounds {312, 12, 84, 36) ;

add (label1) ;

Epanel = new java.awt.Pane! () :

Epanel. setLayout (new GridlLayout (6,1,0,0));
Epanel. setBounds (456, 72, 55, 178) ;

add (Epane|) ;

E6 = new java. awt.Button():

E6. setLabel ("6 FE") ;

E6. setBounds (0, 0, 55, 29) :

E6. setBackground (new Color (12632256)) ;
Epanel. add (E6) ;

E5 = new Java awt. Button () ;

E5. setLabel ("5 ") ;

E5. setBounds (0, 29, 55, 29) ;

E5. setBackground (new Color (12632256)) ;
Epanel. add (E5) ;

E4 = new java.awt. Button():

E4. setlabel ("4 ") ;

E4. setBounds (0, 58, 55, 29) ;

E4. setBackground (new Color (12632256)) ;
Epanel. add (E4) ;

E3 = new Java awt. Button() ;

E3. setlabel ("3 ®E") .

E3. setBounds (0, 87, 55, 29) ;

E3. setBackground {(new Color (12632256)) :
Epane!. add (E3) ;

E2 = new Java awt. Button () ;

E2. setlabel (" 2B7) ;

E2. setBounds (0, 1186, 55 29) ;

E2. setBackground (new Color (12632256)) :
Epane |. add (E2) ;

E1 = new java. awt. Button 0
El.setlabel ("1 ")

E1. setBounds (0, 145, 55, 29) ;

E1. setBackground (new Color (12632256)) ;
Epanel. add (E1) ;

labe!2 = new java.awt.label (T L R—EHRE L"),
labe|2. setBounds (444, 12, 108, 32) :

add (label2) ;

labe 3 = new java.awt.label ("T L ~R—#%", Label.CENTER) ;
labe 13. setBounds (84, 24, 85, 26) ;

add (label3) ;

Finish = new Java awt. Button()

Finish. setLabel ("#& T

Finish. setBounds (456, 480 77.41); // Finish. setBounds (636, 516, 77, 41) ;

Finish. setBackground (new Color (12632256)) :
/7 add(Finish) ;

Start = new Java awt. Button () ;

Start. setLabel ("B#E") :

Start. setBounds (456, 420, 73, 41) ; // Start. setBounds (636, 456, 73, 41) ;
Start. setBackground (new Color (1 2632256) ) ;
add (Start) ;

Liftpanel = new java. awt. Panel () ;

Liftpanel. setlayout (new GridlLayout (6.1,0,0)):
Liftpanel. setBounds (72, 70, 92, 490) ;
Liftpanel. setBackground (new Color (1 26322586)) :
add (Liftpanel) ;

sixthF = new java. awt.Label ("6 ")

sixthF. setBounds (0, 0, 92, 81) ;

Liftpanel. add (sixthF) ;

fifthF = new java.awt.Labe! ("SB");
fifthF. setBounds (0, 81, 92, 81) ;

Liftpanel. add (fifthF) ;

fourthF = new java. awt.Label ("4 ") :
fourthF. setBounds (0, 162, 92, 81) :

Liftpanel. add (fourthF) ;

thirdF = new java.awt.Label ("3E")
thirdf. setBounds (0, 243, 92, 81) ;

Liftpanel. add (thirdF) ;

secondF = new java. awt.Label ("2 B
secondF. setBounds (0, 324, 92, 81) :

Liftpane!l. add (secondF) :

firstF = new java.awt. Label (" 1"
firstF. setBounds (0, 405, 92, 81) :

Liftpanel. add (firstF):

/711

07350 215



2160 7360

//{{REGISTER_L | STENERS
SvmMouse aSvmMouse = new SymMouse () :
Start. addMouseL istener (aSymMouse) ;
Finish. addMousel i stener (aSymMouse) ;
E1. addMouseL istener (aSymMouse) ;
E2. addMouseL istener (aSymMouse) ;
E3. addMousel istener (aSymMouse) ;
E4. addMousel istener (aSymMouse) ;
E5. addMousel istener (aSymMouse) ;
E6. addMouseL istener (aSymMouse) ;
D2. addMousel istener (aSymMouse) ;
D3. addMousel istener (aSymMouse) ;
D4. addMouseL istener (aSymMouse) ;
D5. addMousel istener (aSymMouse) ;
D6. addMousel istener (aSymMouse) ;
U1. addMouseL istener (aSymMouse) ;
U2. addMouselL istener (aSymMouse) ;
U3. addMousel istener (aSymMouse) ;
U4, addMousel istener (aSymMouse) ;
U5. addMousel i stener (aSymMouse) ;

) //1}

//{{DECLARE_GONTROLS
java. awt. Panel Upanel;
java. awt. Button U6;
java. awt. Button U5;
java. awt. Button U4;
java. awt. Button U3;
java. awt. Button U2;
java. awt. Button U1;
java. awt. Label label7;
java. awt. Panel Dpanel:
java. awt. Button D6;
java. awt. Button D5;
java. awt. Button D4;
java. awt. Button D3;
java. awt. Button D2;

. java. awt. Button D1;
java. awt. Label labelt;
java. awt. Panel Epanel;
java. awt. Button ES;
java. awt. Button E5;
java. awt. Button E4;
java. awt. Button E3;
java. awt. Button E2;
java. awt. Button E1;
java. awt. Labe! label2;
java. awt. Labe! label3;
java. awt. Button Finish;
java. awt. Button Start:
java. awt. Panel Liftpane!;
java. awt. Label sixthF;
java. awt. Labe! fifthF;
java. awt. Label fourthF;
java. awt. Labe! thirdF;
java. awt. Label secondF;
java. awt. Label firstF;
//1)

class SymMouse extends java. awt.event. MouseAdapter
public void mousePressed (java. awt. event. MouseEvent event)

Object object = event. getSource () ;
if (object == Start)
Start_MousePressed (event) ;
else if (object == Finish)
Finish_MousePressed (event) ;
else if (object == E1)
E1_MousePressed {event) ;
else if (object == E2)
E2_MousePressed (event) ;
else if (object == E3)
E3_MousePressed (event) ;
else if (object == E4)
E4_MousePressed (event) ;
else if (object == E5)
E5_MousePressed (event) ;
else if (object == E6)
E6_MousePressed (event) ;
else if (object == D2)
D2_MousePressed (event) ;
else if (object == D3)
D3_MousePressed {(event) ;
else if (object == D4)
D4_MousePressed (event) ;
else if (object == D5)
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D5_MousePressed (event) ;
else if (object == DB)
D6_MousePressed (event) ;
else if (object == U1)
U1_MousePressed (event) ;
else if (object == U2)
U2_MousePressed (event) ;
else if (object == U3)
U3_MousePressed (event) ;
else if (object == U4)
U4_MousePressed (event) ;
else if (object == U5)
) U5_MousePressed (event) ;

}
void Start_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here.
WaitThread wth = new WaitThread (1000); //WaitThread
wth. start () ;

// {{CONNEGT I ON

// Request the focus

Start. requestFocus () ;
J //1}

void Finish_MousePressed (java. awt. event. MouseEvent event)
// to do: code goes here.

// {{CONNECTION
// Hide the Applet
try {
System. exit (0) ;
} catch (SecurityException e) {}
//System.exit (0): //setVisible (false);
) //1}

void Ef_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here.
int i =1;
//E1. setBackground (new Color (16762880)) ;
liftrequestCommon (i) ;
/7 {{CONNECTION
// Show the Applet
setVisible (true) ;
) //1

void E2_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here.
int i =2;
//E2. setBackground (new Color (16762880)) ;
liftrequestGommon (i) ;
// { {CONNEGT ION
// Show the Applet
setVisible (true) ;
} //1}

void E3_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here.
int i =3;
//E3. setBackground (new Color (16762880)) ;
liftrequestCommon (i) ;
// {{CONNECTION
// Show the Applet
setVisible (true) ;
} //1}

void E4_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here.

int i = 4;

//E4. setBackground (new Color (16762880)) ;
liftrequestCommon (i) ;

// { {CONNEGT ION

// Show the Applet

setVisible (true) :
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/71
1

void E5_MousePressed(java.awt.event.MouseEvent event)

// to do: code goes here
int i =5;
//E5. setBackground (new Color (16762880)) ;
liftrequestCommon (i) ;
/7 {{CONNECT ION
// Show the Applet
setVisible (true) ;
} /71

void E6_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here.
int i = 6;
//E8. setBackground (new Color (16762880)) ;
liftrequestCommon (i) ;
// { {CONNECT 10N
// Show the Applet
setVisible (true) ;
y /74

void liftrequestCommon{(int f) {
ED. liftreq. LiftRequestAdd (f) ;

ED. liftbtn. ItsButtonLightOn (f) ;

void D2_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here
int i = 2;
//D2. setBackground (new Color (16762880)) ;
downrequestCommon (i) ;
//{{CONNECTION
// Show the Applet
setVisible (true) ;
: //1}

void D3_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here.
int i =3,
//D3. setBackground (new Color (16762880)) ;
downrequestCommon (i) ;
// {{CONNECT 10N
// Show the Applet
setVisible (true) ;
) 771}

ioid D4_MousePressed (java. awt. event. MouseEvent event)
// to do: code goes here
int i =4;
//D4. setBackground (new Color (16762880)) :
downrequestCommon (i) ;
//{{CONNEGTION
// Show the Applet
setVisible (true) :
/74
}

void D5_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here
int i =5;
//D5. setBackground (new Color (16762880)) :
downrequestCommon (i) ;
// {{CONNECT ION
// Show the Applet
setVisible (true) ;
) //1}

void D6_MousePressed (java. awt. event. MouseEvent event)
// to do: code goes here

int i =6;
//DB. setBackground (new Color (16762880)) ;
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downrequestCommon (i) ;
//{{CONNECTION
// Show the Applet
setVisible (true) ;

| //1}

void downrequestCommon (int f) {
ED. downreq. DownRequestAdd (f) ;
ED. downbtn. | tsButtonLightOn (f);

void U1_MousePressed(java.awt.event.MouseEvent event)

// to do: code goes here
int i =1;
//U1. setBackground (new Color (16762880)) ;
uprequestGommon (i) ;
// {{CONNEGTION
// Show the Applet
setVisible (true);
) //}}

void U2_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here
int i = 2;
//U2. setBackground (new Color (16762880)) ;
uprequestCommon (i) ;
// {{CONNEGTION
// Show the Applet
setVisible (true) ;
) //11

void U3_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here
int i =3;
//U3. setBackground (new Golor (16762880)) ;
uprequestCommon (i) ;
/7 {{CONNECT ION
// Show the Applet
setVisible (true) ;
: //1}

void U4 _MousePressed {java. awt. event. MouseEvent event)

// to do: code goes here
int 1 = 4;
//U4. setBackground (new Golor (16762880)) ;
uprequestCommon (i) ;
// {{CONNECTION
// Show the Applet
setVisible (true) ;
) /74

void U5_MousePressed (java. awt. event. MouseEvent event)

// to do: code goes here
int i =5;
//U5. setBackground (new Color (16762880)) ;
uprequestCommon (i) ;
//{{CONNEGT 10N
// Show the Applet
setVisible (true);
y //11

void uprequestCommon{int f) {
ED. upreq. UpRequestAdd (f) ;
ED. upbtn. ItsButtonLightOn (f) ;

}
}
//ERT—REFTO Y b
class ED
{
public static String signal; //MES
public static String act; /) 7 FOREE
public static String cid; //COMKIND

//" leavelp” | “arriveUp” | “leaveDown”| “arr iveDown”| “noOpera
tion”
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public static int groundFloorNo = 1;
public static int topFloorNo = 6;
public static int liftid = 1;
public static int of; //current Floor
/Ty POERKR
public static Lift |ift = new Lift(};
public static ButtonPanel |iftbtn = new ButtonPanel (): //1) 7 rRE /AR ILD
IVRBE VIR
public static ButtonPanel upbtn = new ButtonPanel (}: //EBAOTERA N
RILDAIRR VR
public static ButtonPanel downbtn = new ButtonPane! (}: //TFHBAZOFPHRAE /3
R2ILDA VY RBE VR
;}ZPUbI ic static LiftReqSet liftreq = new LiftReqSet () : /)7 hREUMNLD

public static UpRequest upreq = new UpRequest () ; //JATHLDLERE
* public static DownRequest downreq = new DownRequest(): //JAFTHLOTHE
r
/787 rs0ERER

class UpRequest

J/BHERT N CTralselzEy bEahd = nitREFRE

static boolean upreq[] = new boolean[ED. topFloorNo — ED. groundFloorNo + 17]:

void UpRequestAdd (int i) {
! upreqli = 1] = true;

void UpRequestRemove (int i) {
| upreq[i — 1] = false;

boolean UpRequestFromCurrentFlr (int i) {
if (upreqli - 1] == true) return true;
else return false:

]

boolean UpRequestFromAboveFir (int i) {
int j =i;
while (j <= ED. topFloorNo - ED. groundFloorNo — 1) {
if (upreqfj] == true) return true:

Jr+;
}
return false:
}
boolean UpRequestFromBelowFir (int i) {
int j =i -2; //current floor No — 2 &
LEEMSDEREL
while (j >= ED. groundFloorNo - 1) {
if (upreqlj] == true) return true;
J7
}
return false;
}
}
/707 HEDTFHRER

class DownRequest

//NBEIXT X Tralselzy bEhd = InitMEBFTE

static boolean downreq[] = new boolean[ED. topFloorNo — ED. groundFloorNo + 17;
void DownRequestAdd (int i) {

downreq[i — 1] = true;
}

void DownRequestRemove (int i) {
downreq[i - 1] = false;

}
boolean DownRequestFromCurrentFlr (int i) {
if (downreqli — 1] == true) return true;
else return false:
}
boolean DownRequestFromAboveFlr (int i) {
int § = i; :
while (j <= ED. topFloorNo — ED. groundFloorNo) {
if (downreq[j] == true) return true:
Fhas

return false:
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}
boolean DownRequestFromBelowFlr (int i) {
int j =i -2; //current floor No - 1: B TFEMNS D
BEREIL
while (j >= ED. groundFloorNo - 1) {
if (downreq[j] == true) return true;
J=
return false;
}

}

/)T MTERER
?Iass LiftReqSet

static boolean |ftreq[] = new boolean[ED. topFloorNo ~ ED. groundFloorNo + 1]:
static {

for (int i = ED. groundFloorNo ~ 1: i < ED. topFloorNo — ED. groundFloorNo: i
++)

}

void LiftRequestAdd{int i){
Iftreq[i — 1] = true;
}

void LiftRequestRemove (int i) {
Iftreq[i — 1] = false;
}

boolean LiftRequestFromCurrentFlr (int i){
if (Iftreg[i = 1] == true) return true:
else return false;

{Iftreq[i] = false:}

}
boolean LiftRequestFromAboveFIr (int i) {
int j=i; //current floor No + 1
while (j <= ED.topFloorNo ~ ED. groundFloorNo) {
if (Iftreq[j] == true) return true:
jt+;
}
return false;
}
boolean LiftRequestFromBelowFIr (int i) {
int j=i-2; //eurrent floor No — 1
while (j >= ED. groundFloorNe ~ 1) {
if (Iftreqlj] == true) return true;
J=
)
) return false;

]
/IRE

class button
boolean isLighted;

public void ButtonLightOn() {
isLighted = true;

public void ButtonLightOff () {
isLighted = false;

public boolean ButtonlsDark () {
if (isLighted == false) return true;
else return false;

public boolean ButtonlsBright () {
if (isLighted == true) return true:
else return false;

}
//RE VRS (ERAZAT7RE Y /THRAZBT7ZREY /)7 bRE V)

class ButtonPanel
button btnpanel[] = new button[ED. topFloorNo — ED. groundFloorNo + 1};

E{iuttonPaneI 0 //NBlE=RNBEZRDA T 7 b
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for (int j = ED.groundFloorNo - 1; j < ED.topFloorNo; j++){

btnpanel [j] = new button();

}
void ltsButtonLightOn(int f){
btnpanel [f — 1].ButtonLightOn{() :

void ltsButtonLightOff (int ) {
btnpanel [f — 1. ButtonLightQff ()

boolean |tsButtonisDark{int f){
return btnpanel [f ~ 1].ButtonlsDark ()

}
boolean ltsButtonisBright (int f){
return btnpanel [f - 1].Button!sBright ()
}
1
oy
class Lift
//8RE
LiftO{
ED.signal = “canlLeaveSig”;
ED. act = “waiting”;
ED. cf = ED. groundF loorNo;
/I ERIES

void LiftCommandLeavingUp () {
if ((ED. act.equals ("waiting™)) ||
(ED.act.equals(”waitingUp”))]|
(ED. act. equals ("waitingDown”) ) 8&
(ED.cf < ED topFIoorNo)){
ED.cid = “leaveUp” ;
ED. act = “movingUp”;

//EERAD S
switch (ED of) {
case 1: System.out.printin("1F
case 2: System. out. printin("2F
case 3: System.out.printin("3F
case 4: System.out.printin{("4F
case 5: System. out.println("5F
| case 6: System.out.printin("6F
ED. cf++

RS E B AR T

ED.signal = “arrivingSig”;
}

// £ BT
void LiftContinueleavinglp () {
if (ED.act.equals("movingUp") && ED.cf
ED.cid = “nolperation”;
switch (ED.of) {

case 1: System.out.printin("1F

case 2: System. out.println{"2F

case 3: System. out.println("3F

case 4: System. out.printin("4F

case 5: System. out.printIn("5F
! case B6: System. out.printIn("6F
ED. of++;

}

// ERE|ERS
void LiftCommandArriVIngUp(){
if (ED.act.equals( mOV|ngUp BRI
ED.cid = arrnveUp ;
ED. act = “waitingUp”

//1’%@5’&1*7&'&47(;’& %T‘?"

ED.signal = "canlLeaveSig”:

/77 BERL

switch (ED.cf)
case 1: System. out.printin("1F
case 2: System. out.printin(”2F
case 3: System. out.printin(“3F
case 4: System.out.printin("4F
case 5: System. out.printin("5F
case 6: System.out.printin("6F

close”)
close”)
close”)
close”)
close”)
close”)

ibreak;
ibreak;
ibreak:
;break;
ibreak;
;break;

< ED. topFloorNo) {

go through”

go through”
go through”

go through”

go through”

open”) ;
open”) ;
open”) ;
ok
BE
)

open
open

open

)
)i
)
go through” ;
):

break;
break;
break;
break;
break;
break:

break;
break;
break;
;break;
;break;
break;
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}
/I THRIES

void LiftCommandLeavingDown () {
if ((ED. act.equals(“waiting”) || ED. act.equals("waitingDown”) || ED.ac
t.equals ("waitinglp”)) &&
ED. ¢f > ED. groundFloorNo) {
ED.cid = “leaveDown”;
ED. act = “movingDown”;

//RERALS

try

sWItCh (ED cf) {
case 1: System. out.printIn("1F close”) ;break:
case 2: System. out. printIn("2F close”) ;break:
case 3: System.out.printIn("3F close”) ;break;
case 4: System. out.println("4F close') break;
case 5: System.out.printIn("5F close”) ;break:
case 6: System. out.printin("6F close”) ;break;

]catch(NuI|PointerException e) [System. out. printIn("error: “+e):}

Y EBismETE AT
y ED.signal = “arrivingSig”;
}
// TR

void LlftContlnueLeaV|ngDown(){
if (ED. act. equals( mOV|ngDown ") && ED.cf > ED. groundFloorNo) {
ED.cid = “no0peration”;
switch (ED.cf) |
case 1: System. out.printIn("1F go through”
case 2: System.out.printin("2F go through”

break;
break:

‘)
2 )
case 3: System. out.printIn(”3F go through”) ;break:
case 4: System. out.printIn("4F go through™) ;break:
case 5: System.out.printIn("5F go through') break;
y case 6: System.out.printIn("6F go through™) :break;
ED. cf—:
}
//THREIEES

void LlftCommandArr|V|ngDown(){
if (ED. act. equals( mOV|ngDown I

ED.cid = “arriveDown”
ED. act = “waitingDown”;
//fn%(iﬁ’éﬁi_l“&ﬁﬁf’é'r\?'
\ ED.signal = “canlLeaveSig”:
//RERL
switch (ED.cof) {
case 1: System.out.printIin("1F open”) ;break;
case 2: System.out.printIn("2F open”) ;break;
case 3: System. out.printIn("3F open”) ;break;
case 4: System. out.printin("4F open”) :break:
case 5: System. out.printIn("5F open”) ;break;
| case B6: System. out.println("6F open”) :break;
}
/RIS S

void LiftWait() {
it (ED. act.equals ("waitingUp”) || ED.act.equals("waitingDown”)) {
ED.cid = “nolperation”:

ED. act = “waiting”:

}

7/ AR
class WaitThread extends Thread
{

int delay;
WaitThread (int d) {
delay = d;

public void run() {
while (true){
try {Thread.sleep(delay):
Jcatch (InterruptedException e) {}
LiftRunInSys (ED. signal) ;
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}

void LiftRunInSys (String signal) {
if (signal.equals(“canLeaveSig”)) {
if (ED. act.equals("waiting”)) { //LiftlsWaiting
LiftReactForCanLeaveSigWhenWaiting () ;

}
else if (ED.act.equals ("waitingUp™)) {
LiftReactForGanLeaveSigWhenWaitingUp () :

else if (ED.act.equals("waitingDown™)) {
LiftReactForCanleaveSigWhenWaitingDown () ;

else if (signal. equals(arrlvmgSlg )|
if (ED. act.equals(” movngown )]
LiftReactForArrivingSigWhenMovingDown () :

else if (ED. act.equals ("movingUp™)) {
LiftReactForArrivingSigWhenMovingUp () ;

}

void LiftReactForCanlLeaveSighhenWaiting Of
if (ED. act.equals ("waiting™)) {
if (ToGoUp (ED. cf) && ToGoDown (ED. cf)) {
LiftLeaveUp () ;

}

else if (ToGolUp (ED.cf) && !ToGoDown (ED. cf)) {
ED. downreq. DownRequestRemove (ED. cf) ; //HEA
ED. downbtn. 1tsButtonlLightOff (ED. cf) :
LiftLeaveUp () ;

else if (!ToGoUp (ED. cf) && ToGoDown (ED.cf)) {
ED. upreq. UpRequestRemove (ED. cf) ; /A
ED. upbtn. ItsButtonLight0ff (ED, cf) ; //f8A
LiftLeaveDown () ;

else if (!ToGoUp (ED.cf) && !ToGoDown (ED.cf)) {
LiftWaitinEnv () ;

}

void LiftReactForArrivingSigihenMovinglp Of
if (ED. act. equals ("movingUp”)) {
if (ToArriveUp (ED. cf)) {
LiftArriveUp();

else {
LiftContinueUpInEnv () ;

}

void LiftReactForCanLeaveSigWhenWaitingUp 01
if (ED. act.equals("waitingUp”))
if (ToGoUp (ED. cf)) {
LiftLeaveUp () ;

}

else if (!ToGoUp (ED. cf) && ToGoDown (ED. cf)) [
ED. upreq. UpRequestRemove (ED. of) ;
ED. upbtn. ItsButtonLightOff (ED. cf) ;
LiftLeaveDown () ;

else if (!ToGoUp (ED.cf) && !ToGoDown (ED. cf)) {
LiftWaitInEnv () ;

}

void LiftReactForArr |V|ngS|gWhenMovngown O
if (ED. act. equals ("movingDown”) )} {
if (ToArriveDown (ED. cf)) {
LiftArriveDown () ;

else |
LiftContinueDownInEnv () ;
}
void LiftReactForCanLeaveSigWhenWaitingDown 01

if (ED. act. equals ("waitingDown™)) {
if (ToGoDown (ED. cf)) {
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LiftLeaveDown () ;

else if (!ToGoDown (ED.cf) && ToGoUp (ED.cf)) {
ED. downreq. DownRequestRemove (ED. cf) ;
ED. downbtn. 1tsButtonlLightOff (ED. cf) ;
LiftLeaveUp () :

}
else if (!ToGoDown (ED.cf) && !ToGoUp (ED.cf)) {
LiftWaitInEnv () ;

}

boolean ToGoUp(int f) {
return ED. liftreq. LiftRequestFromAboveFlr (f) || ED. upreq. UpRequestFromAb
oveF!r (f)

}

boolean ToArriveUp (int ) {
return (ED. liftreq. LiftRequestFromCurrentFlr (f) || ED.upreq. UpRequestFro
mCurrentFlr (f)
\ ) 11 1ToGoUp (£) ;

boolean ToGoDown (int f) {
return ED. | iftreq. LiftRequestFromBe lowFIr (f) || ED. upreq. UpRequestFromBe
lowFir ()

}

boolean ToArriveDown (int f) {
return (ED. liftreq. LiftRequestFromCurrentFlr (f)
|| ED.downreq. DownRequestFromCurrentFlr (f)) || 'ToGoDown (f) :

|| ED. downreq. DownRequestFromAboveF|r (f) ;

|| ED.downreq. DownRequestFromBe lowF Ir (F) ;

void LiftWaitInEnv () {
ED. fift.LiftWait O ;
}

void LiftLeavelUp () {
ED. upreq. UpRequestRemove (ED. cf) ;
ED. upbtn. ItsButtonl ightOff (ED. cf) ;

//
ED. lift. LiftCommandLeavinglUp () : //Remove/Light0ffdD %
}

void LiftLeaveDown () {
ED. downreq. DownRequestRemove (ED. cf) ;

ED. downbtn. ItsButtonL ightOff (ED. cf) ; //1tsDownButtonL i ght0ff ()
//
ED. lift.LiftCommandLeavingDown () ; //E AT

}

void LiftArriveUp() {
ED. lift. LiftCommandArrivingUp () ;
ED. liftreq. LiftRequestRemove (ED. cf) :
/7
: ED. liftbtn. ltsButtonlightOff (ED. cf) ; //1tsLiftButtonlightOff ()

void LiftArriveDown() {
ED. lift.LiftCommandArrivingDown () ;
ED. Iiftreq. LiftRequestRemove (ED. cf) ;
//
ED. lifthtn. ltsButtonLightOff (ED. ¢f) ; //1tsLiftButtonLightOff ()

void LiftContinueUplInEnv () {
) ED. lift. LiftContinueleavingUp () ;

void LiftContinueDowninEnv () {
ED. lift.LiftContinuelLeavingDown () ;
}
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